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(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR A T &5 DBRB=E| K &&t = A
1 |deiEE 5.0E-1 05 1.4E+1 14.0 145
2 |[EHRE 6.6E+2 660.0 660.0
3 |AFE
4 |ERE 2.0E+0 2.0 2.0
5 (AR
6 [ILZE 9.4E+0 9.4 9.4
7 |fRBE 3.6E+0 36 2.8E+2 2835 287.1
8 |ZWE 41E+2| 8.0E-1 4129 4.2E+4 42,456.6 42,869.5
9 |HAE 2.6E+1 26.1 3.0E-1| 1.1E+1 10.9 37.0
10 [HER 8.0E-1 0.8 3.5E+3 3,510.0 35108
1 [BEE 3.8E+1 38.2 2.7E+3 2,686.8 2,725.0
12 |TER 2.7E+1 26.7 7.3E+2 726.8 753.5
13 |HREER
14 |[#E)E 2.4E+2 242.0 3.0E-1| 3.7E+4 36,900.7 37,1427
15 |#iRE 5.3E+1 53.3 6.8E+3 6,810.0 6,863.3
16 |[EWE 2.0E-1| 3.3E+0 35 1.5E+0 15 5.0
17 |RINE 49E+0 49 1.0E+3 1,005.7 1,010.6
18 |f&@HE 2.0E+1 20.3 3.0E-1| 7.0E-1 1.0 21.3
19 [ILEE 2.5E+2 250.0 5.0E+0| 1.4E+3 1,405.0 1,655.0
20 |REFHER 1.4E+2 140.0 5.0E+0| 2.2E+3 2,205.0 2,345.0
21 |IKEBR 2.5E+1 25.3 40E+0| 2.6E+2 261.2 286.5
22 |E&mER 1.5E+2| 6.5E+0 152.9 6.6E+2 658.0 810.9
23 |BHE 1.0E+2 99.6 3.4E+4 34.272.3 34,371.9
24 |=ZER 1.6E+1 16.4 4.8E+1 48.0 64.4
25 |HER 3.2E+0 32 1.4E+0| 1.5E+1 16.0 19.2
26 |REAT 3.5E+1 34.9 1.3E+4| 8.0E-1 13,001.2 13,036.1
27 | KBRAF 1.0E+1 10.4 6.0E-1| 8.4E+2 839.1 849.5
28 |EER 44E+3| 6.9E+2 51134 20E+1| 21E+3 2,100.1 7,2135
29 |ZRER 1.0E+2 100.0 100.0
30 |FOERILE 3.0E-1 0.3 2.0E-1 0.2 0.5
31 |BHRE
32 |BRE 3.5E+4 35,000.0 35,000.0
33 |EWLE 5.4E+2 1.7E+1 560.0 55E+3 54753 6,035.3
34 |[LER 46E+3| 1.0E+0 4,581.0 1.1E+5 111,000.0 115,581.0
35 |lLAOg 1.5E+3| 6.8E+3 8,314.4 4.6E+3 46129 12,9273
36 |EER
37 |BIIR 3.1E+2 3116 3116
38 |BER 1.3E+1 13.0 3.0E+0 3.0 16.0
39 |EER
40 |fEREE 3.0E-1 0.3 0.3
41 [EER
2 |RIBER
43 |RERR
44 | KHR 1.0E-1 0.1 4.0E-1 0.4 05
45 |FIFER
46 |EEER
47 |[HiER
£ E 1.3E+4| 7.5E+3 20,247.7 1.3E+4| 2.9E+5 306,288.5 326,536.2
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